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SECTION — B (arks 22)

Q.2  Answer the following questions briefly. (11x2=22) _Lgfffjay.eﬁf.amr&w
(i) | Differentiate between unary and binary operators. Write the difference between default and case
Give one example of each. keywords in switch statement.
J-—J.:/'f—l.{f G nd (Unary and binzry operators) | 0-5%4 | ORI 7 (case keyword)si(defanlt keywordd/* (Switeh statement) | 147
_Q_‘JJL‘)_Q -gf):‘jdjjuyu
{if) ) What are comments? Alsc write down the symbols
What is flowchart? Draw any ftwo symbols of 140.5 used for two types of commants. {8
flowehart? . o .
N + | OR b s L o, .;'..(:' »%e i Comments) d
Shlsymbols )3 Lk St fusd | 05 e5
_Jfg UP/ (symbuls)
(iii) T T — T —— Correct any four errors in the given code.
| 7 <htmi>
veid main() ; .
2 { <heading>
a int n; <\title>Title Page<titie>
4 | printZ(“Enter the value of n); | <theading=
5 secanf ("%£7,n}; 0.5x4 | OR <body= 0.5x4
£ o ShikacRApy | <ifo= This is bold tag <b>
7 printf ("Fail”) ; <ﬂdey>
a8
: o, p u’( 7 <{htmi= .
L e (ewors) o P U USSS dg[,fui:f(errers)»i;& L}Xuﬁifif’:u
{iv) | Write down the role of algorithm in problem solving. | What is high level language? Give two examples.
| i 1+1 | OR . v, 144
| el gt ey | DA Ay
{v) | What will be the valuss ofthe given C expressions? Rewrite the following statement using conditionsl
’ (a) . 100/10/4 operator.
! [b) 509%13%3 i if (xy)
| v . a=xty:
- 0 U Gatnes) Slopression Critn | . bR : a1 <
g ' a=niy:
:L_;..le_-»ugaﬁby end Al {23;7:_?;{
{vi) | Write the purpose of continue statement in loops. | Draw the truth tables of OR gate and NOR gate.
{ _ufg 24 (continue statement) ! 2 ' OR -l.fl'rf J’f FrE e dina T 4
{vii) | What will be the output of following C language What will be the output of following C language
| program? program?
void main () void main {)
{ {
int a, x,y: int x=0; ] E
a=2; if (k==0)
x=a*2: 1 | OR printe (“hi”} : 2
y=a%?; i alse
printf(Mxe=%d", =, "y=%1",¥); | printf (“how are you");
} printf (“helle”} ;
‘J'Ep:fyilg‘_‘..'ﬂgr‘l/r !.;‘_,679@’ O ffbﬂ ' !
| ' "b’;d_._:.b__—ﬁb’rbt;z;ﬁ E0ln
{viii) Write a C program that reads two numbers and What is a Web browser? Give any two examples.
prints their ausrage: _\_JJ;_,-‘-ij‘:JJJ(":a‘_L"’(Wab brcwsar'l' 1+0.6
i _:‘_.f.:r‘.;iv:fJQIJ:JL./;»J?fﬁ(U:{,C-{T ? OR ;5
{ix} Determina the output of the following C code: What will ba the cutput of following HTML code? N
int n; <ol
| for (n=1;n<20;n+=2) <li=RAM=/li>
: { <li=ROM=</li>
i | printf ("%d\n",n) ; 2 OR <jol> 2
| ) ?{ﬁgdriaiib’ijmﬂeﬁan

_L,C’cn.:q_,‘.‘.:ﬁ K’ﬂ:ﬁ}:,u
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(x} | Write the output of the following logic circuit. \Write a code to apply background calor (yeliow] and
: Ao 08 . foreground colors (red).
Do =l ¢ | OR |Goreground)mné & (bacieground)éuria-o? S Biifla | 141
0.541 | ’ -
..u.'.'a..‘:f_d—ﬁf.‘-// -rqﬂﬂ;a‘)’ I ,;{Ej;b/
{xi} | Rewrite the following for lcop code by using while | Draw the symbol of AND gate. Also draw the truth
loop. table of AND gate.
int ni i -f 3 4 H Eopea . - & f’-i
for (n=0;n<20 jn=n+2} 2 1 OR “V‘hf&”j(‘;&lﬁ-ﬁ#m;ﬂ& 1+1
printf{"\n%d” ,n); |
| o intd Ao ULz wZ S Uit S unite) S 1
SECTION - a
Attempt the following questions. (4x5=20) ,q)];};ymﬁ..-..mra»
Q.3 | Write down the use of variables in C programming. Write down the purposes of the following Escape
Explain any four rules for specifying variable Sequences.
names with examples. {(a} \a (b) iy {c} \n
1x3 OR 1x5
J’f'L g _}F!Lf,::.ufﬁ' IR 202 (C programming) {d) \r (e) w
. 4fg 285 L (Fiscape sequencesdesfus
I L rules) eSS L L2l
Q.4 | Write down any three differences between while Write down the difference between Unordered list
loop and do while loop. Also give one example of | and definition list in HTML with the help of an
sach. - exampie. 2.5
% . 1§ . .| 32 OR | o | ) +
O E el e Lt S S ' (defmition list) s (unordered tist) Uf HIML = su g0 | o
el . -L-':‘-,O'U-'/; Pl
Qs Simhlify the 'follo{.ving Baoolean function F, using | Explain the purpose and ' syntax of if else if !
Karnaugh Map F = 4B+ 4B+ 4B . Also construct statement? Elaborate its working with the help of an
logic circuit for the simplified expression. 43 oR example. 244
* : ~ - -
-L,.ft;dlf rfc;ﬁggﬂv}b,i..xi.fdﬂ'l §(Kamaugh Map) 2.5 e L{LJL‘f—l[J' Crge ) J(syulnx.)ﬂfy“‘ §o(if else if) +2
Ll LB AT P = ARy AB + AB L L
Q.6 ! Draw a flowchar to find the factorial of a given Write 3 C program to print the given seguence of
number. numbers on a single line using a loop.
-Lﬁ&«%iﬁs_{—Ls;-j;jﬂ"(factorinl){ﬁ“sii_—lfb(( . . 1471013 16 19 22 25 28 31 34 37 40 .
| LE:J(-J:/‘.'?Z@_.JE..KLIJL;’I K(lﬂ&p}..rr:’}?:unjl‘!/"u'c-g
e S dr e end




